
Week 20 - Math Assignment
Name _______________   Score ____/10

1.

Rewrite as a fraction. Then simplify if needed. 3 points each. 

2.2 ÷ 6 = 14 ÷ 5 = 

3.
Make sure to show all the steps you used 

to solve this problem. 3 points (1 point for 

answer, 2 points for showing steps)

Four kids are weeding a garden. There are 
eleven total rows they need to weed. If they 

share the job equally how many rows will 
each kid have to weed? 

4.
Below is a line plot. 1 point. What is the highest 
snowfall recorded for December?  ______ 


